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1 

4 × 2 ×      = 48 

4 × 2 ×  6  = 48 



2a 

4 × 2 ×      = 48 

4 × 2 ×  6  = 48 



2b 

8 × 1 ×      = 48 

8 × 1 ×  6  = 48

8 × 1 × 6 =     

8 × 1 × 6 =  48 



3a 

Veronica had some boxes 
of fruit snacks. 

Her friend gave her 3 
more boxes of fruit snacks. 

Then she bought 6 
more boxes of fruit snacks. Fruit 
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3a 

Now Veronica has 12 
boxes of fruit snacks. 

How many boxes of fruit 
snacks did Veronica start with? 

Fruit 
Snacks Fruit 

Snacks Fruit 
Snacks 

Fruit 
Snacks Fruit 

Snacks Fruit 
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3b 

 + 3 + 6 = 12 

3 + 6 + 12 = 

12 -  - 3 = 3 



4a 

+ 4 + 3 = 13 



4b 

8 7 6 





5 

Process Input 
      1 × 3 = 1 × 3 

   1 × 3 × 3 = 1 × 32 

1 × 3 × 3 × 3 = 1 × 33 

1 
2 
3 

Output 
 3 
 9 

27 



6a 

Process Input 
      1 × 3 = 1 × 3 

   1 × 3 × 3 = 1 × 32 

1 × 3 × 3 × 3 = 1 × 33 

1 
2 
3 

Output 
 3 
 9 

27 



6b 

Process Input 
      8 × 8 = 82 

   8 × 8 × 8 = 83 

8 × 8 × 8 × 8 = 84 

1 
2 
3 

Output 
   64 
  512 

4,096 

Process Input 
      8 × 2 = 8 × 2 

   8 × 2 × 2 = 8 × 22 

8 × 2 × 2 × 2 = 8 × 23 

1 
2 
3 

Output 
16 
32 
64 



7a 

Process Week 

Gallons of Gas Used 

      3 × 2 = 3 × 2 
   3 × 2 × 2 = 3 × 22 

3 × 2 × 2 × 2 = 3 × 23 

1 
2 
3 
4 

Gallons 
of Gas 

 6 
12 
24 



7b 

3 × 3 × 2 × 2 × 2 = 32 × 23 216 

3 × 3 × 3 × 2 × 2 = 33 × 24 108 

3 × 2 × 2 × 2 × 2 = 3 × 24 48 



8a 

40 
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Gas Used 



8b 

The amount of gas he used 
increased by 10 gallons each week. 

The amount of gas he used 
doubled each week. 

The amount of gas he used 
increased by 5 gallons each week. 





9 

$6 

$6 + $6 + $6 = $18 



10a 

Cost Number of 
Balloon Animals 

3 
6 
9 

11 

$18 
$36 
$54 
$66 



10b 

Six balloon animals cost $36. 

One balloon animal costs $18. 



11a 

$6 ×    = $72 n 



11b 

n = 12 = 14n = 66 n 



12a 

100% = 300 balloon animals 

75% = 225 dogs 25% = butterflies 



12b 

25 75 50 





13 

500 + 90 + 7 

597 



14a 

1,643 = 1,000 + 600 + 40 + 3 



14b 

2,862 = 2,862 

2,862 = 2,000 + 800 + 60 + 2 



15a 

16 – (2 × 7) 



15b 

16 – 9 

14 × 7 

16 – 14 



16a 

20 – (22 + 9) 



16b 

25 9 7 





17 

8 × 8 = 64 

   ×    = 64 



18a 

8 × 8 = 64 



18b 

10 × 10 = 100 

10 × 8 = 80 



19a 

8 

8 



19b 

8 ÷ 8 = ____ 

8 × 8 = ____ 

8 + 8 = ____ 



20a 

____ × ____ = 144 



20b 

144 and 1 

12 and 12 

13 and 13 
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